

MELLIN TRANSFORM TECHNIQUE FOR SOLVING GRIFFITH CRACK PROBLEM AT THE INTERFACE OF TWO BONDED DISSIMILAR WEDGES

by K. N. SRIVASTAVA, ARATI CHOUDHARY and R. M. PALAIYA,
M. A. College of Technology, Bhopal 462007

(Received 25 May 1978)

The formulation of a general Griffith crack problem situated at the interface of two bonded dissimilar wedges is presented. A systematic use of Mellin transform reduces the problem to that of solving a system of simultaneous triple integral equations. This set of equations is shown to be equivalent to Riemann boundary value problem which has a closed form solution. As a specific example the problem of finding distribution of stresses for a pair of Griffith cracks situated at the interface of two bonded half planes is considered. Expressions for stress intensity factors have been derived.

1. INTRODUCTION

In composite materials, brittle fracture often takes place at the interface of dissimilar layers. To investigate such phenomena by the methods of fracture mechanics we must have at our disposal the solutions of the problems in the theory of elasticity for cracks between dissimilar bodies. Recently this type of problems have been extensively studied. Lowengrub and Sneddon (1973, 1974), Lowengrub (1975), Goldstein and Vainshelbaum (1976) and the authors (Srivastava *et al.* 1977) have shown that the method of integral transforms can be used for analysing this type of problems.

In this paper we present a general formulation of the problem of a Griffith crack situated at the interface of two wedges with different elastic properties bonded together. The problem is first reduced to a set of simultaneous triple integral equations by means of inverse Mellin transforms. This latter problem, in turn, is reduced to a Riemann boundary value problem. The closed form solution of Riemann boundary value problem is used for deriving expressions for the components of stresses and stress intensity factors at the tip of crack.

2. FORMULATION OF THE PROBLEM

A plane polar coordinate system is used. In this coordinate system the components of stress tensor are $[\sigma_{rr}(r, \theta), \sigma_{r\theta}(r, \theta), \sigma_{\theta\theta}(r, \theta)]$ and the components of displacement vectors are $[u_r(r, \theta), u_\theta(r, \theta)]$. We consider the plane strain problem of

determining the stress field in the vicinity of a Griffith crack, described by $\theta = 0$, $a \leq r \leq b$, situated at the interface of two bonded dissimilar wedges. The upper wedge with elastic constants μ_1, η_1 is supposed to occupy the region $0 \leq r < \infty$, $0 \leq \theta < \pi/n$, and the lower wedge with elastic properties μ_2, η_2 occupies the region $0 \leq r < \infty$, $-\pi/n \leq \theta \leq 0$. Here μ is the modulus of rigidity and η is the Poisson's ratio. The subscripts 1 and 2 will be used to denote the upper and lower wedges respectively. If we assume that the upper and lower surfaces of crack are subjected to prescribed tractions, then inside the crack we have the conditions:

$$\sigma_{\theta\theta}(r, 0+) = \sigma_{\theta\theta}(r, 0-) = -p_1(r), \quad a \leq r \leq b \quad \dots(2.1)$$

$$\sigma_{r\theta}(r, 0+) = \sigma_{r\theta}(r, 0-) = -p_2(r), \quad a \leq r \leq b \quad \dots(2.2)$$

On the region outside of the crack we have the following continuity conditions:

$$\sigma_{\theta\theta}(r, 0+) = \sigma_{\theta\theta}(r, 0-) \quad \dots(2.3)$$

$$\sigma_{r\theta}(r, 0+) = \sigma_{r\theta}(r, 0-) \quad \dots(2.4)$$

$$u_r(r, 0+) = u_r(r, 0-) \quad \dots(2.5)$$

$$u_\theta(r, 0+) = u_\theta(r, 0-) \quad \dots(2.6)$$

We further assume that at the free edges of the wedges the following conditions are satisfied

$$u_\theta(r, \pi/n) = u_\theta(r, -\pi/n) = 0, \quad 0 \leq r < \infty \quad \dots(2.7)$$

$$\sigma_{r\theta}(r, \pi/n) = \sigma_{r\theta}(r, -\pi/n) = 0, \quad 0 \leq r < \infty. \quad \dots(2.8)$$

3. SOLUTION OF THE EQUATIONS OF ELASTIC EQUILIBRIUM IN POLAR COORDINATES

The solution of the equations of elastic equilibrium pertaining to plane strain in plane polar coordinates in terms of Airy's stress function as given in Sneddon (1963) is

$$(2\mu_i)^{-1} r^2 \sigma_{\theta\theta}(r, \theta) = M^{-1} [s(s+1) \bar{\chi}_i(s, \theta); r] \quad \dots(3.1)$$

$$(2\mu_i)^{-1} r^2 \sigma_{r\theta}(r, \theta) = M^{-1} \left[(s+1) \frac{\partial \bar{\chi}_i}{\partial \theta}(s, \theta); r \right] \quad \dots(3.2)$$

$$\begin{aligned} ru_r(r, \theta) = & -M^{-1} \left[(s+1)^{-1} \left\{ (1-\eta_i) \frac{\partial^2 \bar{\chi}_i}{\partial \theta^2}(s, \theta) \right. \right. \\ & \left. \left. - (1+\eta_i s) s \bar{\chi}_i(s, \theta) \right\}; r \right] \quad \dots(3.3) \end{aligned}$$

$$ru_\theta(r, \theta) = -M^{-1} \left[\{(s+1)(s+2)\}^{-1} \left((1-\eta_i) \frac{\partial^2 \bar{\chi}_i}{\partial \theta^2}(s, \theta) + \{(1-\eta_i)s^2 + (s+1)(s+2)\} \frac{\partial \bar{\chi}_i}{\partial \theta}(s, \theta) \right); r \right] \dots(3.4)$$

where $\bar{\chi}_i(s, \theta) = A_i \sin(s\theta) + B_i \cos(s\theta) + C_i \sin(s+2)\theta + D_i \cos(s+2)\theta$
 $= \int_0^\infty r^{s-1} \chi_i(r, \theta) dr, i = 1, 2$

and $M^{-1}[f(s); r]$ denotes the inverse Mellin transform of the function $f(s)$.

4. SOME USEFUL RESULTS

In this section we list some results which will be used in the next section. From the result

$$\int_a^b (x-a)^{m-1} (b-x)^{n-1} (a+x)^{-p} (b+x)^{-q} dx = (b-a)^{m+n-1} \times (b+a)^{-p-q} F_3(m, n; p, q; m+n; -X, X), \text{Re}(m, n) > 0 \dots(4.1)$$

where $X = (b-a)/(b+a)$ and F_3 is hypergeometric function of two variables defined in Erdelyi (1954a, p. 274) we can easily derive the following results. Let

$$I_n = \int_a^b x^n \{(a-x)(b+x)\}^{-(1/2)+i\omega} \{(a+x)(b-x)\}^{-(1/2)-i\omega} dx$$

then

$$I_0 = \frac{\pi}{(a+b)} \text{sech } \pi\omega {}_2F_1\left(\frac{1}{2} + i\omega, \frac{1}{2} - i\omega; 1; X^2\right) \dots(4.2)$$

$$I_1 = \pi X \text{sech } \pi\omega \left(\frac{1}{2} + i\omega \right) F_3\left(\frac{3}{2} + i\omega, \frac{1}{2} - i\omega; \frac{1}{2} - i\omega, \frac{1}{2} + i\omega; 2; -X, X\right) + a I_0$$

$$= \pi X \text{sech } \pi\omega \left[\left(\frac{1}{2} + i\omega \right) F_3\left(\frac{1}{2} + i\omega, \frac{1}{2} - i\omega; \frac{1}{2} - i\omega, \frac{1}{2} + i\omega; 2; -X, X\right) + \frac{X}{2} \left(\frac{1}{2} + \omega^2 \right) F_3\left(\frac{3}{2} + i\omega, \frac{1}{2} - i\omega; \frac{3}{2} - i\omega, \frac{1}{2} + i\omega; 3; -X, X\right) \right] + a I_0$$

$$= I'_1 + i I'_1 \dots(4.3)$$

$$\begin{aligned}
 I_2 &= (b - a) \Gamma\left(\frac{3}{2} + i\omega\right) \Gamma\left(\frac{1}{2} - i\omega\right) F_3\left(\frac{3}{2} + i\omega, \frac{1}{2} - i\omega; \frac{1}{2} - i\omega, \right. \\
 &\quad \left. - \frac{1}{2} + i\omega; 2; -X, X\right) + a^2 I_0 \\
 &= \pi(b - a) \operatorname{sech} \pi\omega \left[\left(\frac{1}{2} + i\omega\right) F_3\left(\frac{1}{2} + i\omega, -\frac{1}{2} - i\omega; \frac{1}{2} + i\omega, \right. \right. \\
 &\quad \left. \left. - \frac{1}{2} + i\omega; 2; -X, X\right) - \frac{X}{2} (\frac{1}{4} + \omega^2) \{F_3\left(\frac{3}{2} + i\omega, \right. \right. \\
 &\quad \left. \left. - \frac{1}{2} - i\omega; \frac{3}{2} - i\omega, -\frac{1}{2} + i\omega; 3; -X, X\right) \right. \\
 &\quad \left. + F_3\left(\frac{1}{2} + i\omega, \frac{1}{2} - i\omega; \frac{1}{2} - i\omega, \frac{1}{2} + i\omega; 3; -X, X\right)\right] \\
 &\quad + \frac{X^2}{6} (\frac{1}{4} + \omega^2) (\frac{1}{2} - i\omega) F_3\left(\frac{3}{2} + i\omega, \frac{1}{2} - i\omega; \frac{3}{2} - i\omega, \frac{1}{2} + i\omega; 4; \right. \\
 &\quad \left. - X, X\right) + a^2 I_0 \\
 &= I_2 + i I_2'. \tag{4.4}
 \end{aligned}$$

It is interesting to note that the above series are rapidly converging and for any numerical computation of I_n it is sufficient to consider only a few terms of the above series. We shall also use the following results given in (Erdelyi 1954b, p. 346)

$$M^{-1} [\tan(\pi s/n); r/u] = -n(ru)^{n/2}/\pi(u^n - r^n), \quad 0 < s < n/2 \tag{4.5}$$

$$M^{-1} [\cot(\pi s/n); r/u] = nu^n/\pi(u^n - r^n), \quad 0 < s < n/2. \tag{4.6}$$

5. REDUCTION OF THE PROBLEM TO SIMULTANEOUS TRIPLE INTEGRAL EQUATIONS AND THEIR SOLUTIONS

We consider the two cases when $n = 1, 2$. The conditions (2.3), (2.4), (2.7) and (2.8) give the following equations

$$2\mu_1 (B_1 + D_1) = 2\mu_2 (B_2 + D_2) \tag{5.1}$$

$$2\mu_1 [A_1 s + C_1(s + 2)] = 2\mu_2 [A_2 s + C_2(s + 2)] \tag{5.2}$$

$$A_1 \cos(\pi s/n) - B_1 \sin(\pi s/n) = 0 = C_1 \cos(\pi s/n) - D_1 \sin(\pi s/n) \tag{5.3}$$

$$A_2 \cos(\pi s/n) + B_2 \sin(\pi s/n) = 0 = C_2 \cos(\pi s/n) + D_2 \sin(\pi s/n) \tag{5.4}$$

The conditions (2.5) and (2.6) lead to the following equations

$$r^{-1} M^{-1} [(s + 1)^{-1} \varphi(s); r] = 0, \quad (0 \leq r \leq a) \cup (b \leq r < \infty) \tag{5.5}$$

$$r^{-1} M^{-1} [(s + 1)^{-1} \psi(s); r] = 0, \quad (0 \leq r \leq a) \cup (b \leq r < \infty) \tag{5.6}$$

where

$$(A_1 - A_2) s + (C_1 - C_2) (s + 2) + 4\{(1 - \eta_2) C_2 - (1 - \eta_1) C_1\} = \varphi(s) / (s + 1) \quad \dots(5.7)$$

$$(B_1 + D_1 - B_2 - D_2) s + 4\{(1 - \eta_1) D_1 - (1 - \eta_2) D_2\} = \psi(s) / (s + 1). \quad \dots(5.8)$$

From these equations we get

$$- \frac{(\beta^2 - \alpha^2)}{2} (B_2 + D_2) s(s + 1) = \alpha \varphi(s) \cot (\pi s/n) + \beta \psi(s) \quad \dots(5.9)$$

$$- \frac{(\beta^2 - \alpha^2)}{2} [A_2 s + C_2 (s + 1)] (s + 1) = \alpha \psi(s) \tan (\pi s/n) + \beta \varphi(s) \quad \dots(5.10)$$

where $\alpha = 4 [G(1 - \eta_1) + (1 - \eta_2)]$, $\beta = 2 [(1 - 2\eta_1) G - (1 - 2\eta_2)]$, $G = \mu_2/\mu_1$.

Hence we get

$$\begin{aligned} r^2 \sigma_{\theta\theta}(r, 0+) &= r^2 \sigma_{\theta\theta}(r, 0-) \\ &= - M^{-1} \left[\frac{4\mu_2}{\beta^2 - \alpha^2} \left\{ \alpha \cot \frac{\pi s}{n} \varphi(s) + \beta \psi(s) \right\}; r \right] \quad \dots(5.11) \end{aligned}$$

$$\begin{aligned} r^2 \sigma_{r\theta}(r, 0+) &= r^2 \sigma_{r\theta}(r, 0-) \\ &= - M^{-1} \left[\frac{4\mu_2}{\beta^2 - \alpha^2} \left\{ \alpha \tan \frac{\pi s}{n} \psi(s) + \beta \varphi(s) \right\}; r \right]. \quad \dots(5.12) \end{aligned}$$

By differentiating (5.5) and (5.6) we get

$$\left. \begin{aligned} M^{-1}[\varphi(s); r] &= 0 \\ M^{-1}[\psi(s); r] &= 0 \end{aligned} \right\} \quad (0 \leq r \leq a) \cup (b \leq r < \infty).$$

These equations together with the conditions (2.1) and (2.2) lead to the following simultaneous triple integral equations involving inverse Mellin transforms

$$\begin{aligned} M^{-1} \left[\alpha \varphi(s) \cot \frac{\pi s}{n} + \beta \psi(s); r \right] &= \frac{\beta^2 - \alpha^2}{4 \mu_2} r^2 p_1(r) = f_1(r^{n/2}), \\ & \quad a \leq r \leq b \quad \dots(5.13) \end{aligned}$$

$$\begin{aligned} M^{-1} \left[\alpha \psi(s) \tan \frac{\pi s}{n} + \beta \varphi(s); r \right] &= \frac{\beta^2 - \alpha^2}{4 \mu_2} r^2 p_2(r) = f_2(r^{n/2}), \\ & \quad a \leq r \leq b \quad \dots(5.14) \end{aligned}$$

$$M^{-1} [\varphi(s); r] = 0, \quad (0 \leq r \leq a) \cup (b \leq r < \infty) \quad \dots(5.15)$$

$$M^{-1} [\psi(s); r] = 0, \quad (0 \leq r \leq a) \cup (b \leq r < \infty) \quad \dots(5.16)$$

where $0 < s < n/2$. To solve the above set of equations we assume that

$$M^{-1} [\varphi(s); r] = \begin{cases} a_1(r^{n/2}), & a \leq r \leq b \\ 0, & (0 \leq r \leq a) \cup (b \leq r < \infty) \end{cases} \quad \dots(5.17)$$

$$M^{-1} [\psi(s); r] = \begin{cases} b_1(r^{n/2}), & a \leq r \leq b \\ 0, & (0 \leq r \leq a) \cup (b \leq r < \infty). \end{cases} \quad \dots(5.18)$$

Hence we have

$$\varphi(s) = \int_a^b a_1(u^{n/2}) u^{s-1} du \quad \dots(5.19)$$

$$\psi(s) = \int_a^b b_1(u^{n/2}) u^{s-1} du. \quad \dots(5.20)$$

Here $a_1(u)$ and $b_1(u)$ are unknown functions to be determined. By using (4.6) we have

$$\begin{aligned} M^{-1} \left[\varphi(s) \cot \frac{\pi s}{u}; r \right] &= \int_a^b a_1(u^{n/2}) M^{-1} \left[\cot \frac{\pi s}{n}; \frac{r}{u} \right] \frac{du}{u} \\ &= \frac{n}{2\pi} \int_a^b a_1(u^{n/2}) u^{(n/2)-1} [(u^{n/2} - r^{n/2})^{-1} + (u^{n/2} + r^{n/2})^{-1}] du \\ &= \frac{1}{\pi} \int_A^B a_1(t) [(t-x)^{-1} + (t+x)^{-1}] dt \\ &= \frac{1}{\pi} \int_L \frac{a(t)}{t-x} dt. \end{aligned} \quad \dots(5.21)$$

Similarly from (4.5) we have

$$\begin{aligned} M^{-1} \left[\psi(s) \tan \frac{\pi s}{n}; r \right] &= -\frac{n}{2\pi} \int_a^b b_1(u^{n/2}) u^{(n/2)-1} [(u^{n/2} - r^{n/2})^{-1} \\ &\quad - (u^{n/2} + r^{n/2})^{-1}] du \\ &= -\frac{1}{\pi} \int_A^B b_1(t) [(t-x)^{-1} - (t+x)^{-1}] dt \end{aligned}$$

(equation continued on p. 153)

$$= - \frac{1}{\pi} \int_L \frac{b(t)}{t-x} dt$$

where $x = r^{n/2}$, $A = a^{n/2}$, $B = b^{n/2}$, $L = (-B, -A) \cup (A, B)$ and $a(t)$ and $b(t)$ are the extensions of $a_1(t)$ and $b_1(t)$ respectively to the region $(-B, -A)$ such that

$$\left. \begin{aligned} a(t) &= \begin{cases} a_1(t), & A < t \leq B \\ -a_1(-t), & -B \leq t \leq -A \end{cases} \\ b(t) &= \begin{cases} b_1(t), & A \leq t \leq B \\ b_1(-t), & -B \leq t \leq -A. \end{cases} \end{aligned} \right\} \dots(5.22)$$

With the help of these equations (5.15) and (5.16) reduce to the following set of singular integral equations

$$\beta b(x) + \frac{\alpha}{\pi} \int_L \frac{a(t)}{t-x} dt = \hat{f}_1(x) \dots(5.23)$$

$$\beta a(x) - \frac{\alpha}{\pi} \int_L \frac{b(t)}{t-x} dt = \hat{f}_2(x) \dots(5.24)$$

where $\hat{f}_1(x)$ and $\hat{f}_2(x)$ are even and odd extensions of $f_1(x)$ and $f_2(x)$ respectively. The substitution

$$\lambda(x) = b(x) + ia(x) \dots(5.25)$$

$$f(x) = \hat{f}_1(x) + i\hat{f}_2(x) \dots(5.26)$$

helps in combining two eqns. (5.23) and (5.24) into a singular integral equation

$$\beta \lambda(x) + \frac{\alpha}{\pi i} \int_L \frac{\lambda(t)}{t-x} dt = f(x). \dots(5.27)$$

This equation can be further reduced to Riemann boundary value problem (Muskhelishvili 1965) which has a closed form solution. If we define

$$\Lambda(z) = \frac{1}{2\pi i} \int_L \frac{\lambda(u)}{u-z} du, \text{Re}(z) = x \dots(5.28)$$

and use Pelmelj formula, we have

$$\Lambda^+(x) - \Lambda^-(x) = \lambda(x) \dots(5.29)$$

$$\Lambda^+(x) + \Lambda^-(x) = \frac{1}{\pi i} \int_L \frac{\lambda(u)}{u-x} du \dots(5.30)$$

These relations show that (5.27) is equivalent to the condition

$$\Lambda^+(x) = -k \Lambda^-(x) + (\alpha + \beta)^{-1} f(x), \quad x \in L \quad \dots(5.31)$$

where $k = (\alpha - \beta)/(\alpha + \beta) > 0$. The solution of this problem as given in Muskhelishvili (1965) is

$$\Lambda(z) = \frac{X(z)}{2\pi i} \int_L \frac{f(t)}{X^+(t)(t-z)} dt + (Cz + D) X(z)^- \quad \dots(5.32)$$

where C and D are arbitrary complex constants and $X(z)$ is the solution of the homogeneous boundary value problem

$$X^+(t) = -k X^-(t), \quad t \in L. \quad \dots(5.33)$$

This problem has the solution

$$X(z) = \{(z - A)(z + B)\}^{-(1/2)+i\omega} \{(z + A)(z - B)\}^{-(1/2)-i\omega} \quad \dots(5.34)$$

where $\omega = \frac{1}{\pi} \log k$. In case $f(t)$ is a polynomial

$$\int_L \frac{f(t)}{X^+(t)(t-z)} dt = \frac{2\pi i}{k+1} \left[\frac{f(t)}{X(z)} - L(z) \right] \quad \dots(5.35)$$

where $L(z)$ is the term independent of 't' in the Laurant series expansion of the function $f(t)/X(t)(t-z)$. Hence we have

$$\Lambda(z) = \frac{1}{2\alpha} [f(z) - X(z) \{L(z) - Cz - D\}]. \quad \dots(5.36)$$

6. CASE OF NORMAL PRESSURE

We now consider, as a specific example the case in which the crack is opened by normal pressure $p_1(r) = p_0/r^2$, $p_2(r) = 0$, so that we have

$$f(x) = f_1(x) + i f_2(x) = \frac{\beta^2 - \alpha^2}{4\mu_2} p_0 = f_0.$$

Then we have

$$L(z) = f_0 [z^2 + 2i\omega(B - A) - \{(A^2 + B^2) + (2(B - A)\omega)^2\}]. \quad \dots(6.1)$$

Hence

$$\Lambda(z) = \frac{f_0}{2\alpha} \left[1 - (z^2 + Cz + D) X(z) \right] \quad \dots(6.2)$$

where $X(z)$ is defined in (5.34). From (5.34) we have

(i) for $A < x < B$,

$$\left. \begin{aligned} X^+(x) &= -i k^{1/2} \{(x^2 - A^2)(B^2 - x^2)\}^{-1/2} (\cos \omega\theta + i \sin \omega\theta) \\ X^-(x) &= i k^{-1/2} \{(x^2 - A^2)(B^2 - x^2)\}^{-1/2} (\cos \omega\theta + i \sin \omega\theta) \end{aligned} \right\} \dots(6.3)$$

where $\theta = \log \{(x - A)(B + x)/(A + x)(B - x)\}$, while for $-B \leq x \leq -A$, we have

$$\left. \begin{aligned} X^+(x) &= i k^{1/2} \{(x^2 - A^2)(B^2 - x^2)\}^{-1/2} (\cos \omega\theta + i \sin \omega\theta) \\ X^-(x) &= -i k^{-1/2} \{(x^2 - A^2)(B^2 - x^2)\}^{-1/2} (\cos \omega\theta + i \sin \omega\theta) \end{aligned} \right\} \dots(6.4)$$

(ii) for $0 \leq x < A$,

$$X^+(x) = X^-(x) = -\{(A^2 - x^2)(B^2 - x^2)\}^{-1/2} (\cos \omega\theta_1 + i \sin \omega\theta_1) \dots(6.5)$$

where $\theta_1 = \log \{(A - x)(B + x)/(A + x)(B - x)\}$, and

(iii) for $x > B$,

$$X^+(x) = X^-(x) = \{(x^2 - A^2)(x^2 - B^2)\}^{-1/2} (\cos \omega\theta_2 + i \sin \omega\theta_2) \dots(6.6)$$

where $\theta_2 = \log \{(x - A)(x + B)/(x + A)(x - B)\}$.

Hence for $A < x < B$, if we write $C = C_1 + iC_2$, $D = D_1 + iD_2$ where $C_i, D_i, i = 1, 2$ are arbitrary real constants, then from (5.29) we have

$$\begin{aligned} \Lambda^+(x) - \Lambda^-(x) &= \frac{if_0}{\{(\alpha^2 - \beta^2)(x^2 - A^2)(B^2 - x^2)\}^{1/2}} \\ &\times [x^2 + (C_1 + iC_2)x + D_1 + iD_2] (\cos \omega\theta + i \sin \omega\theta) \end{aligned} \dots(6.7)$$

and

$$\begin{aligned} \Lambda^+(x) + \Lambda^-(x) &= \frac{f_0}{\alpha} \left[1 - \frac{i\beta(x^2 + (C_1 + iC_2) + D_1 + iD_2)}{\{(\alpha^2 - \beta^2)(x^2 - A^2)(B^2 - x^2)\}^{1/2}} \right. \\ &\quad \left. \times (\cos \omega\theta + i \sin \omega\theta) \right]. \end{aligned} \dots(6.8)$$

The Pelmelj relation for $A < x < B$, then yields

$$a_1(x) = f_0 \left[\frac{(x^2 + C_1x + D_1) \cos \omega\theta - (C_2x + D_2) \sin \omega\theta}{\{(\alpha^2 - \beta^2)(x^2 - A^2)(B^2 - x^2)\}^{1/2}} \right] \dots(6.9)$$

$$b_1(x) = -f_0 \left[\frac{(x^2 + C_1x + D_1) \sin \omega\theta + (C_2x + D_2) \cos \omega\theta}{\{(\alpha^2 - \beta^2)(x^2 - A^2)(B^2 - x^2)\}^{1/2}} \right] \dots(6.10)$$

Similarly for $-B < x < -A$ we have

$$a(x) = -f_0 \left[\frac{(x^2 + C_1x + D_1) \cos \omega\theta - (C_2x + D_2) \sin \omega\theta}{\{(\alpha^2 - \beta^2)(x^2 - A^2)(B^2 - x^2)\}^{1/2}} \right] \dots(6.9a)$$

$$b(x) = f_0 \left[\frac{(x^2 + C_1 x + D_1) \sin \omega \theta + (C_2 x + D_2) \cos \omega \theta}{\{(\alpha^2 - \beta^2)(x^2 - A^2)(B^2 - x^2)\}^{1/2}} \right]. \quad \dots(6.10a)$$

The relations $a(x) = -a_1(-x)$ and $b(x) = b_1(-x)$ on $-B < x < -A$ are satisfied provided $C_1 = D_2 = 0$. The other two constants are determined from the continuity of displacement at the end points of the crack. From (3.3), (3.4) and (5.7), (5.8) we have

$$\begin{aligned} \frac{d}{dr} [(u_\theta(r, 0+) - u_\theta(r, 0-)) + i(u_r(r, 0+) - u_r(r, 0-))] \\ = -M^{-1}[\varphi(s) + i\psi(s); r] = -\lambda(r^{n/2}), \text{ for } a < r < b. \end{aligned}$$

Hence we have

$$\int_a^b u^{(2/n)-1} \lambda(u) du = 0. \quad \dots(6.11)$$

From (5.11) and (5.12) we have

$$r^2[\sigma_{\theta\theta}(r, 0+) + i\sigma_{r\theta}(r, 0+)] = \frac{4\mu_2}{(\alpha^2 - \beta^2)\pi i} \int \frac{\lambda(u)}{u-x} du \quad \dots(6.12)$$

where $x = r^{n/2}$. For calculating the stresses the above integral is evaluated with the help of Pelmelj relations for $r < a$ and $r > b$.

Example: To illustrate the method given above we consider the problem of finding the stresses and the stress intensity factors for a pair of coplanar Griffith cracks situated at the interface of two semi-infinite planes having different elastic properties bonded together. The two cracks are defined by the relations $\theta = 0$, $a \leq r \leq b$, $\theta = \pi$, $a \leq r \leq b$ and their faces are subjected to prescribed normal pressure p_0/r^2 . Because of symmetry in the problem we are required to find the solution of the equations of elasticity for the region $0 \leq r < \infty$, $-\pi/2 \leq \theta \leq \pi/2$. This problem corresponds to $n = 2$ of the general problem considered above. Since $n = 2$, we have $A = a$, $B = b$, and $x = r$. With the help of the integrals given in section 4 and eqn. (6.11) we have

$$I_2 + iC_2 I_1 + D_1 I_0 = 0. \quad \dots(6.13)$$

By equating the real and imaginary parts we get

$$C_2 = -I_2'/I_1', D_1 = -(I_1' I_2' + I_1' I_2')/I_0 I_1'.$$

For $r > b$, we have

$$\begin{aligned} r^2 [\sigma_{\theta\theta}(r, 0+) + i\sigma_{r\theta}(r, 0+)] \\ = -p_0 \left[1 - \frac{i\beta(r^2 + irC_2 + D)(\cos \omega\theta_2 + i\sin \omega\theta_2)}{\{(\alpha^2 - \beta^2)(r^2 - a^2)(r^2 - b^2)\}^{1/2}} \right]. \quad \dots(6.14) \end{aligned}$$

For $r < a$, we have

$$\begin{aligned} & r^2[\sigma_{\theta\theta}(r, 0+) + i\sigma_{r\theta}(r, 0-)] \\ &= -p_0 \left[1 + \frac{i\beta(r^2 + irC_2 + D_1)(\cos \omega\theta_1 + i\sin \omega\theta_1)}{\{(\alpha^1 - \beta^2)(a^2 - r^2)(b^2 - r^2)\}^{1/2}} \right]. \end{aligned} \quad \dots(6.15)$$

The stress intensity factor at the crack tip $\theta = 0$, $r = b$ is given by the equation

$$\begin{aligned} N'_b + iN''_b &= \lim_{r \rightarrow b} [(r - b)^{1/2} \{\sigma_{\theta\theta}(r, 0+) + i\sigma_{r\theta}(r, 0-)\} \exp(-i\omega\theta_2)]_{r > b} \\ &= \frac{i\beta p_0}{b^2(\alpha^2 - \beta^2) 2b(b^2 - a^2)^{1/2}} (b^2 + ibC_2 + D_1). \end{aligned} \quad \dots(6.16)$$

Similarly at the tip $\theta = 0$, $r = a$ we have

$$N'_a + iN''_a = - \frac{i\beta p_0(a^2 + iaC_2 + D_1)}{a^2\{(\alpha^2 - \beta^2) 2a(b^2 - a^2)\}^{1/2}}. \quad \dots(6.17)$$

The case when $n = 1$ can be treated in a similar way.

REFERENCES

- Erdelyi, A. *et al.* (1954a). Higher Transcendental Functions, Vol. 1. McGraw-Hill Book Co., Inc., New York.
- (1954b). Tables of Integral Transforms, Vol. 1. McGraw-Hill Book Co., Inc., New York.
- Goldstein, R. V., and Vainshelbaum, V. M. (1976). Axisymmetric problem of a crack at the interface of layers of a multi-layered medium. *Int. J. Engng Sci.*, **14**, 335.
- Lowengrub, M. (1975). A pair of coplanar Griffith cracks at the interface of two bonded dissimilar elastic half-planes. *Int. J. Engng Sci.*, **13**, 731.
- Lowengrub, M., and Sneddon, I. N. (1973). The stress field near a Griffith crack at the interface of two bonded dissimilar elastic half-planes. *Int. J. Engng Sci.*, **11**, 1025.
- (1974). The effect of a penny-shaped crack at the interface of two bonded dissimilar half-spaces. *Int. J. Engng Sci.*, **12**, 387.
- Muskhelishvili, N. I. (1965). Some Basic Problems in the Mathematical Theory of Elasticity. Noordhoff and Groningen, Holland.
- Sneddon, I. N. (1953). Fourier Transforms. McGraw-Hill Book Co., Inc., New York.
- Srivastava, K. N., Palaiya, R. M., and Choudhary, Arati (1977). Riemann boundary value technique for solving certain multiple integral equations and their applications. *J.M.A.C.T.*, **10**, 13.